BID TABULATION

Uniform Rental Services March 18, 2010, 3:00 p.m.

G & K Services	Year One	Year Two	Year Three
	\$20,174.44	Same	Same
Universal Linen	\$124,859.80	Same	Same

{See Attached Spreadsheets}

QUANTITIES

G & K Services

		First		Second		Third	
		Year		Year		Year	
	Quantity	Cost/Ea.	Extension	Cost/Ea.	Extension	Cost/Ea.	Extension
	Ž						
<u>Shirts</u>				All Cost		All Cost	
				Same As		Same As	
Short Sleeve				Year 1		Year 1	
White	55	\$0.140					
Dark Blue	77	\$0.140					
Light Blue	440	\$0.140					
Flame Resistant	77	\$0.430	\$33.11				
Long Cloove							
Long Sleeve							
White	55	\$0.140	\$7.70				
Dark Blue	77	\$0.140					
Light Blue	440	\$0.140					
Flame Resistant	77	\$0.430					
<u>Pants</u>							
Standard Pant							
5 . 5		00.440	400.00				
Dark Blue	572	\$0.140				ļ	
Flame Resistant	77	\$0.430	\$33.11				
lookoto							
<u>Jackets</u>							
Dark Blue	104	\$0.250	\$26.00				
Flame Resistant	104	\$1.600					
riamo redoletant		ψ1.000	ΨΖΖ. 10			<u> </u>	
Weekly Cost			\$387.97				
•							
OPTIONAL							
Cargo Pant							
		_	. .				
Dark Blue	572	\$0.200					
Flame Resistant	77	\$0.430	\$33.11				
					1	1	

Replacen	nent			
Cost/Ea. To LRAA				
If Damaged	d/Lost			
ii Dainagee	a/ E00t			
	.			
	\$18.00			
	\$18.00			
-				
	\$18.00			
	\$58.00			
	ψ50.00			
	\$18.00			
	ψ10.00			
	\$18.00			
	\$18.00			
	\$58.00			
	-			
	\$19.00			
	\$58.00			
	\$35.00			
	\$89.00			
	\$25.00			
	\$58.00			

QUANTITIES

Universal Linen

		First		Second		Third		Replacement
		Year		Year		Year		Cost/Ea. To LRAA
	Quantity	Cost/Ea.	Extension	Cost/Ea.	Extension	Cost/Ea.	Extension	If Damaged/Lost
<u>Shirts</u>				All Cost		All Cost		
				Same As		Same As		
Short Sleeve				Year 1		Year 1		
\ \		0.0400	Ф44.7 Г					#0.05
White Dark Blue	55 77	0.8136 0.8409						\$8.85
Light Blue	440	0.8409	\$64.75 \$370.00				+	\$8.85 \$8.85
Flame Resistant	77	1.2614	\$97.13			<u> </u>	+	\$55.00
Fiame Resistant	11	1.2014	φ97.13					φ55.00
Long Sleeve								
3								
White	55	0.9909	\$54.50					\$9.91
Dark Blue	77	1.0177	\$78.37					\$9.91
Light Blue	440	1.0177	\$447.80					\$9.91
Flame Resistant	77	1.5936	\$122.71					\$29.65
<u>Pants</u>								
Otamala wel David								
Standard Pant								
Dark Blue	572	1.5318	\$876.20					\$11.97
Flame Resistant	77	2.2977	\$176.93					\$33.08
riamo reciciane		L.LOTT	ψ17 0.00					φοσ.σσ
<u>Jackets</u>								
<u> </u>								
Dark Blue	104	0.5091	\$52.95					\$24.49
Flame Resistant	14	1.0757	\$15.06				1	\$49.05
Weekly Cost			\$2,401.15					
OPTIONAL								
Cargo Pant								
Dark Blue	572	1.9772	\$1,131.00					\$12.79
Flame Resistant	572 77	2.9659	\$228.38					\$49.45
riame Nesistant	11	2.9039	\$1,359.38					ψ+3.40
	ļ		ψ1,000.00		Í	I	I	1 1